Hendrick

ARCHITECTURAL

1

1 SEVENTH AVENUE
CARBONDALE, PA 18407 www.hendrickarch.com
p.877.840.0881 f.570.282.1506 arch@hendrickcorp.com



Hendrick

ARCHITECTURAL

©
i
oY
©
©

o
@@@
A

PAA®,
&

e
=
250

A
&
%
%
5

@
@
@@@@ 2@
@Y,
> @@@@@@@
> @@ @@ &
@@ A @-Y®,
@@ @@

TYP PANEL FASTENING DETAIL

www.hendrickarch.com
arch@hendrickcorp.com



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

— WALL ANCHORS
(BY OTHERS)

EXISTING STRUCTURE
- / (BY OTHERS)

e 2"x3"x 1/8"x 10" LG. ALUMINUM BENT
PLATE (CUT AS REQD)

[

—]

4

1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)

—
[
o

43%3YX1/4" x 10' LG. ALUMINUM TEE (CUT
= AS REQD)

\ ’ \

/v =
¥ 1/4"-20 x |.250" LONG 300 SERIES

STAINLESS HEX WASHER HEAD SELF DRILL
SCREW WITH RUBBER FACED WASHER - MAX

| 2" ON CENTER
\ 190" THK OR . 125"

THK ALUMINUM PANEL

o

3/4" dia. ACCESS HOLE - INSERT
FASTENER THRU ACCESS HOLE TO
ANCHOR PANEL TO STRUCTURE

PANEL WIDTH

1 SEVENTH AVENUE
CARBONDALE, PA 18407

p.877.840.0881 f.570.282.1506

@ END WALL DETAIL 3

www.hendrickarch.com
arch@hendrickcorp.com



I I d -
PROVIDE NEOPRENE SPACER OR

ARCHITECTURAL

CONTACT WITH CONCRETE OR

STEEL CONSTRUCTION
WALL ANCHORS
(BY OTHERS)
EXISTING STRUCTURE
~ / (BY OTHERS)
(ar
\ 2'x3"x 1/8"x 10' LG. ALUMINUM BENT
| PLATE (CUT AS REQD)
T
:
—— 1/4'-20 ELCO BI-FLEX HWH SELF-DRILLING
1/4"-20 x |.250" LONG 300 SERIES ————— SCREWS 12" 0.C. (PER ENGINEERING ANALYSIS) 7
STAINLESS HEX WASHER HEAD SELF DRILL 8 - S )
SCREW WITH RUBBER FACED WASHER - MAX ﬂ [ [ 44%33'%1/4" x 10'LG. ALUMINUM TEE (CUT
12" ON CENTER = —  ASREQD)
o ————
&

) \ |
190" THK OR . 25¢ \ 3/4" dha. ACCESS HOLE - INSERT

THK ALUMINUM PANEL FASTENER THRU ACCESS HOLE TO
ANCHOR PANEL TO STRUCTURE

14

PANEL WIDTH PANEL WIDTH

4

@ VERTICAL JOINT

arch@hendrickcorp.com

1 SEVENTH AVENUE
CARBONDALE, PA 18407
p.877.840.0881 f.570.282.1506



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING —
SCREWS | 2" O.C. (PER ENGINEERING ANALYSIS) o §
3 S
o o
g
T
WALL ANCHORS
(BY OTHERS)
M
— — i
<7 £
EXISTING STRUCTURE ©
(BY OTHERS) \ 6" min.
I
|z
2=

—2"x 3"x 1/8"x 10" LG. ALUMINUM
BENT PLATE (CUT AS REQD)

1/4"-20 x 1.250" LONG 300 SERIES
STAINLESS HEX WASHER HEAD SELF
DRILL SCREW WITH RUBBER FACED
WASHER - MAX 2" ON CENTER

4353551 /4" x 10 1G.
ALUMINUM TEE (CUT AS REQD)

o

o

3/4" dha, ACCESS HOLE - INSERT ?HBSLJJ‘ESG ;AZN%
FASTENER THRU ACCESS HOLE

TO ANCHOR PANEL TO

STRUCTURE

1/4" TYP GAP

PANEL WIDTH -1
MIN

1 SEVENTH AVENUE
CARBONDALE, PA 18407

p.877.840.0881 f.570.282.1506

www.hendrickarch.com
arch@hendrickcorp.com

@ OUTSIDE CORNER 5



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

WALL ANCHORS
(BY OTHERS)

EXISTING STRUCTURE
(BY OTHERS) ‘\

2"x3"x 1/8"x 10'LG.
~——— ALUMINUM BENT PLATE
(CUT AS REQ'D)

43%34'x1/4" x 10' LG.
ALUMINUM TEE
(CUT AS REQD)

1/4"-20 x 1.250" LONG 300 SERIES
STAINLESS HEX WASHER HEAD SELF
DRILL SCREW WITH RUBBER FACED
WASHER - MAX | 2" ON CENTER

0.190" THKOR . 125"
THK ALUMINUM PANEL \

A
3/4" dia. ACCESS HOLE - INSERT
FASTENER THRU ACCESS HOLE —==—1/4"TYP GAP
TO ANCHOR PANEL TO
STRUCTURE PANEL WIDTH PANEL WIDTH
-
=
=Y
=
1/4'-20 ELCO BI-FLEX HWH SELF-DRILLING =
SCREWS 12" O.C. (PER ENGINEERING <
ANALYSIS)
™ %
3
L e
= o
¥ =
— w
=
J Z
o
EXISTING STRUCTURE
(BY OTHERS)
o
o

4 INSIDE CORNER 6

CARBONDALE, PA 18407 www.hendrickarch.com
p.877.840.0881 f.570.282.1506 arch@hendrickcorp.com



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

il

4" MIN

WALL ANCHORS
(BY OTHERS)

ﬁ EXISTING STRUCTURE
(BY OTHERS)

—

gt

Lo

’3
‘ﬁ \
(L

Sl 2" x 3% 1/8"x 10'LG. ALUMINUM
BENT PLATE (CUT AS REQD)

STOREFRONT OR
CURTAIN WALL

(BY OTHERS) —~——— |/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)
1/4"-20 x 1.250" LONG 300 SERES — — )
STAINLESS HEX WASHER HEAD SELF 47'x37%1/4" x 10" LG.
DRILL SCREW WITH RUBBER FACED ) ALUMINUM TEE (CUT AS REQD)
WASHER - MAX | 2" ON CENTER

&

T
\—. 190" THK OR . 125"

THK ALUMINUM PANEL

3/4" dia. ACCESS HOLE - INSERT
FASTENER THRU ACCESS HOLE TO
ANCHOR PANEL TO STRUCTURE

PANEL WIDTH

172"
FROM GLAZING R.O.

@ WINDOW JAMB 7

CARBONDALE, PA 18407 www.hendrickarch.com
p.877.840.0881 f.570.282.1506 arch@hendrickcorp.com



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

\
44[ “ 4" MIN |
~ B | 1
L ) - 7 WALL ANCHORS
(BY OTHERS)
e ﬁExlﬁTlNG STRUCTURE
(BY OTHERS)
‘ T
‘fﬁl 2"x 3"x 1/8"x 10' LG, ALUMINUM
DOOR (BY OTHERS) BENT PLATE (CUT AS REQ'D)

M ~=—— |/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)

| 43%35'% 114" x 10" LG.
/ ALUMINUM TEE (CUT AS REQD)

1/4'-20 x 1.250" LONG 300 SERIES —
STAINLESS HEX WASHER HEAD SELF
DRILL SCREW WITH RUBBER FACED
WASHER - MAX 12" ON CENTER

=

|\

|
T
L,iao' THK OR . 125"

THK ALUMINUM PANEL

1

3/4" dia. ACCESS HOLE - INSERT
FASTENER THRU ACCESS HOLE TO
ANCHOR PANEL TO STRUCTURE

PANEL WIDTH

12"
FROM GLAZING R.O.

1 SEVENTH AVENUE
CARBONDALE, PA 18407
p.877.840.0881 f.570.282.1506

www.hendrickarch.com
arch@hendrickcorp.com

@ DOOR JAMB 8



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

o

I
\
\ I
\ \
\ \
\ \
| |
\ \
\ \
\ \
\ \
\ \
b= \ \
Q | |
g \ \
5 | \
w
= |
= % — *\'\ 2"x3"x 1/8"x 10'LG. ALUMINUM
i \ BENT PLATE (CUT AS REQD)
\ \
\ \
\ \
\ \
\ \
A% \ 1l
! = NI ¢
(0 \ ]
\ \
o
g } } WALL ANCHORS
- & ‘ ‘ (BY OTHERS)
%) % M |
] = . |
3 % \ \
T \ \
< | |
\ \
\ \
| |
\ \
\ \
\
Ll |
| | EXISTING STRUCTURE
190" THK OR .1 25" | (BY OTHERS)
THK ALUMINUM PANEL |

43534 1/4" x 10" LG.
ALUMINUM TEE (CUT AS REQD) 1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)

@ HORIZONTAL JOINT 9

CARBONDALE, PA 18407 www.hendrickarch.com
p.877.840.0881 f.570.282.1506 arch@hendrickcorp.com



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

o
o
I
|
| \
| |
| |
| |
| |
| |
| O
| |
| |
| |
- | |
he
Q |
g | \ Kl
D w <~
= ~§|*% TSN 2'x 3" x 18" x 10 LG. ALUMINUM
N | BENT PLATE (CUT AS REQD)
| |
| |
| |
| |
| |
T I
N | |
3 ‘ ‘ o
o I I [¢]
b P | | - |
<9 < M1 | o
2 %
g = - | 3
-
wl
| | WALL ANCHORS
| | (BY OTHERS)
| |
| |
| \ \
| |
"} ‘ EXISTING STRUCTURE
190" THK OR . 1 25" ‘ ‘ (BY OTHERS)
THK ALUMINUM PANEL ‘ ‘
/ [ \
4253114 x 10' LG, : }
ALUMINUM TEE (CUT AS REQD) | 1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING

SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)

1 SEVENTH AVENUE
CARBONDALE, PA 18407
p.877.840.0881 f.570.282.1506

www.hendrickarch.com
arch@hendrickcorp.com

@ FRAMING JOINT 10



Hendric

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR

STEEL CONSTRUCTION
o
o
———— 1/4'-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)
{
|
| I
| |
| |
| g |
| |
| |
| |
| |
| |
} £
| S d
HH+ |
| |
| |
| |
| | _
| | S
I I s} r&_
190" THK OR . 1 25" \ \ =]
- THK ALUMINUM PANEL } | =
S | |
=z
x| | |
o \ \
Z | |
& | |
| |
| |
| |
| |
e !
\ |
| |
| |
| ©—
2% 3'x 118 x 10 LG, AUMINM | } !
BENT PLATE (CUT AS REQD) ‘ }
| |
| |
of i 8
I (T K o2
]| ®
H } } WALL ANCHORS
(BY OTHERS)
7 |
43381 /4" x 10" LG. | }
ALUMINUM TEE (CUT AS REQD) | |
| |
& \ \

1 SEVENTH AVENUE
CARBONDALE, PA 18407
p.877.840.0881 £.570.282.1506

www.hendrickarch.com
arch@hendrickcorp.com

@ BOTTOM CONDITION 1



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

CANTILEVER PER ENGINEERING ANALYSIS

TOP OF PARAPET / ROOF

PANEL LENGTH

1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)

43534 1/4" x 10" LG.
ALUMINUM TEE (CUT AS REQD)

190" THK OR . 125"
THK ALUMINUM PANEL

WALL ANCHORS
(BY OTHERS)

2"x3"x 1/8"x 10' LG. ALUMINUM
BENT PLATE (CUT AS REQD)

g

EXISTING STRUCTURE
(BY OTHERS)

1 SEVENTH AVENUE
CARBONDALE, PA 18407
p.877.840.0881 £.570.282.1506

www.hendrickarch.com
arch@hendrickcorp.com

@ CANTILEVER 12



Hendric

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR

STEEL CONSTRUCTION
o
o
———1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)
\
\
| I
\ [
\ |
\ @ [
ﬂ]’ 1 \
\ [
[ [
\ [
\ \
} o
‘ L K
| iz
[ [
\ [
\ [
\ \
\ \ O
\ \ olw
\ \ -
- \ \ =
c [ [
2 | |
5 \ [
o \ \
Z \ \
o | |
[ \
[ \
190" THK OR . | 25" [ \
THK ALUMINUM PANEL \ [
1
\
\ \
| @ I
[ [
WALL ANCHORS
2"x3"x 1/8"x 10'LG. ALUMINUM 7 } } (BY OTHERS)
BENT PLATE (CUT AS REQD) | |
| ] |
| -
of i 8
/ﬁi N ‘ ¢ g
N \
\ [ <
\ \ g€
43534 1/4" x 10 LG.J | | %
ALUMINUM TEE (CUT AS REQD) \ \
\ \
777z | |
(S — — — — — 1|
‘gﬁ:JL
7\@' )i SN C)N—
AN

\ STOREFRONT OR

CURTAIN WALL
(BY OTHERS)

1 SEVENTH AVENUE
CARBONDALE, PA 18407
p.877.840.0881 £.570.282.1506

www.hendrickarch.com
arch@hendrickcorp.com

@ WINDOW HEAD 13



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

PANEL LENGTH

—— 1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)

1 SEVENTH AVENUE
CARBONDALE, PA 18407

p.877.840.0881

£.570.282.1506

[
|
\ \
| |
| |
| O
g[,p \
| |
| |
| |
| |
|
| K
| |
|
| |
| |
| |
| |
| | O
| | ol
| | 5|F
| | =
| |
| |
| |
| |
| |
| |
| |
| |
190" THK OR .1 25" | |
THK ALUMINUM PANEL | |
vl |
|
| |
\ @ \
| |
WALL ANCHORS
2% 3% 1/8" 10'LG. ALUMINUM | } } (BY OTHERS)
BENT PLATE (CUT AS REQID) ‘ ‘ /
| [
\ \ Kl—/7
o | |8
1 | RS
i | ®©
| | <
7 \ \ E
43'%35%1/4" x 10' LG, \ \ l
ALUMINUM TEE (CUT AS REQD) | |
| |
e | \ i
H H
[ ® |
[T [T
il (<> (%) I
=]
T/
9| | \
—— DOOR
(BY OTHERS)

14

@ DOOR HEAD

www.hendrickarch.com
arch@hendrickcorp.com



Hendrick

ARCHITECTURAL

WALL ANCHORS
(BY OTHERS)

EXISTING STRUCTURE
/ (BY OTHERS)

\ 2"x3"x 1/8"x 10" LG. ALUMINUM BENT

L PLATE (CUT AS REQ'D)

P

1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)

i B )
[e 4343414 x 10' LG, ALUMINUM TEE (CUT
= /7 AS REQD)

1/4"-20 x 1.250" LONG 300 SERIES
STAINLESS HEX WASHER HEAD SELF DRILL
SCREW WITH RUBBER FACED WASHER - MAX

12" ON CENTER
\ 190" THKOR . 125"

THK ALUMINUM PANEL

on

3/4" dia. ACCESS HOLE - INSERT
FASTENER THRU ACCESS HOLE TO
ANCHOR PANEL TO STRUCTURE

PANEL WIDTH

1 SEVENTH AVENUE
CARBONDALE, PA 18407
p.877.840.0881 £.570.282.1506

www.hendrickarch.com
arch@hendrickcorp.com

@ SYSTEM EDGE DETAIL 15



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR
STEEL CONSTRUCTION

PANEL LENGTH

on

190" THK OR . 125"
THK ALUMINUM PANEL

2'x3"x 1/8"x 10" LG. ALUMINUMJ

BENT PLATE (CUT AS REQD)

433114 % 1O o]

ALUMINUM TEE (CUT AS REQ'D)

— 1/4"-20 ELCO BI-FLEX HWH SELF-DRILLING
SCREWS 12" O.C. (PER ENGINEERING ANALYSIS)

Q

©

|
|
\
\
|
|
|
|
|
mis K

\—"—L
|
|
|
|
‘ )
| Sla
| olE
| 2
|
|
|
|
|
|
|
|
|
|
|
|
|
\
} WALL ANCHORS
‘ (BY OTHERS,)
| /

En| K

| ©
| ol
\ Pl
| ®
| c
| 5
| %
|
|
!

1 SEVENTH AVENUE
CARBONDALE, PA 18407
p.877.840.0881 £.570.282.1506

www.hendrickarch.com

@ BOTTOM AT OPENING 16

arch@hendrickcorp.com



Hendrick

ARCHITECTURAL

PROVIDE NEOPRENE SPACER OR
ISOLATION TAPE WHERE ALL
ALUMINUM FRAMING COMES IN
CONTACT WITH CONCRETE OR

STEEL CONSTRUCTION
772 T I
\ \
\ \
\ \
\ \
\ \
M ‘ WALL ANCHORS o
ﬂ* + ‘ (BY OTHERS) - |2
| | [N}
| / ®
‘ ‘ K]
\ [
\ \
\ \
\ \
| O
\ [
\
\ \
- ! !
5 \ \
= \ \
4 \ \
g \ \
& } } —— 1/4-20 ELCO BI-FLEX HWH SELF-DRILLING
| | SCREWS 12" 0.C. (PER ENGINEERING ANALYSIS)
\ \
\ \
190" THK OR . 1 25" | | S
THK ALUMINUM PANEL ‘ [ Sla
> } =
\ \
\ | EXISTING STRUCTURE
11 | BY OTHERS,
214 3% 118 x 10 LG. ALUMINUM | ‘% | | ( )
BENT PLATE (CUT AS REQD) | |
\ \
\
e | K]
| i
\ \
\ \
\ \
42x34x1/4" x 10" LGAJ ‘ @ !
ALUMINUM TEE (CUT AS REQD) ‘ }
o |
o

1 SEVENTH AVENUE

CARBONDALE, PA 18407
p.877.840.0881 £.570.282.1506

@ SYSTEM TOFP DETAIL

www.hendrickarch.com
arch@hendrickcorp.com



Hendrick

ARCHITECTURAL

3 STANDARD WIDTHS - 36", 42" ¢ 48' %
MAX PERF E
- A %
]
¢ |
B B
JJ
i — A o 2" TYP
7\ MARGIN
&
o A-A
(I _J_ 1
2 14" TYP ‘ ‘
B-B
MARGIN = |.125" (0.190" THK AL) MARGIN = O.750" (O. 125" THK AL)

CARBONDALE, PA 18407 www.hendrickarch.com
p.877.840.0881 £.570.282.1506 arch@hendrickcorp.com

@ STADARD PANEL DETAILS 8



Hendrick

ARCHITECTURAL

[/&" (. 125") THICK 5052-H32 ALUMINUM

PANEL WIDTH BY PERF PATTERN ¢ WIND LOAD PRESSURE
PERF PATTERN INFO MAX PANEL WIDTH
PERF DIAMETER (IN) CENTER('%PAC'NG % OPEN AREA 30 PSF 50 PSF 70 PSF
0.250 0.500 22.7 48 36
0.375 0.625 326 42 36 ,
0.375 0.750 22.7 36
0.500 0.750 40.3 =
0.500 1.000 22.7
0.750 1.000 51.0
0.750 1.250 32.6
1.000 1.250 58.0
1.000 2.000 22.7
1.500 1.750 66.6
2.000 2.250 71.7
3.000 3.250 77.3

"*NOTE: PANELS TO BE 36", 42" OR 48" WIDE.

3/16" (.190") THICK 5052-H32 ALUMINUM

PANEL WIDTH BY PERF PATTERN ¢ WIND LOAD PRESSURE
PERF PATTERN INFO MAX. PANEL WIDTH
PERF DIAMETER (IN) CENTE?S)PAC'NG % OPEN AREA 30 PSF 50 PSF 70 PSF
0.250 0.500 227 48 48 48
0.375 0.625 326 48 48 48
0.375 0.750 227 48 48 48
0.500 0.750 40.3 48 48 42
0.500 1.000 22.7 48 48 48
0.750 1.000 51.0 48 42 36
0.750 1.250 326 48 48 48
1.000 1.250 58.0 48 42 36
1.000 2.000 227 48 48 48
1.500 1.750 66.6 48 42 36
2.000 2.250 71.7 48 42 36
3.000 3.250 77.3 48 42 36

“*NOTE: PANELS TO BE 36", 42" OR 48" WIDE.

PANEL SYSTEM REQUIREMENTS & SPECIFICATIONS

PANELS TO BE MADE FROM O.125" OR O. 190" THK AL 5052-H32
PANELS TO BE ATTACHED ON THE LONG VERTICAL EDGES ONLY.
PANEL FASTENERS TO BE SPACED AT MAXIMUM | 2" ON CENTER.
STANDARD PANEL WIDTHS TO BE 36", 42" ¢ 48"

STANDARD PANEL LENGTHS TO BE 72", 96" ¢ | 20"

MAXIMUM DEFLECTION TO BE L/60.

PANEL WIND LOADING: 30 PSF, 50 PSF, 70 PSF

19

N SPAN CHARTS

CARBONDALE, PA 18407 www.hendrickarch.com
p.877.840.0881 f.570.282.1506 arch@hendrickcorp.com




	H-Clad MD - Standard Details 1 (1)
	H-Clad MD - Standard Details 2 (1)
	H-Clad MD - Standard Details 3 (1)
	H-Clad MD - Standard Details 4 (1)
	H-Clad MD - Standard Details 5 (1)
	H-Clad MD - Standard Details 6 (1)
	H-Clad MD - Standard Details 7 (1)
	H-Clad MD - Standard Details 8 (1)
	H-Clad MD - Standard Details 9 (1)
	H-Clad MD - Standard Details 10 (1)
	H-Clad MD - Standard Details 11 (1)
	H-Clad MD - Standard Details 12 (1)
	H-Clad MD - Standard Details 13 (1)
	H-Clad MD - Standard Details 14 (1)
	H-Clad MD - Standard Details 15 (1)
	H-Clad MD - Standard Details 16 (1)
	H-Clad MD - Standard Details Cover Page (1)
	H-Clad MD - Standard Details Fastening Detail (1)
	H-Clad MD - Standard Details SPAN CHARTS (1)

